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/X Linearized knot diagam
6

I /‘\\-/ Solving Sequence

A knot diagranﬂ 4 €8 Cio C3  C7  C11 (2

Ideals for irreducible component#ﬂ)f Xpar

I = (% 44— —1)

* 1 irreducible components of dim¢ = 0, with total 65 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIF=(u4+u+... —u—1)

(i) Arc colorings

wtt — 209 + 40" — 4u® + 3u® — 2u
—uM = 2T+ ub —uP 4w
—ub +ut —2u2+1

—u® 4+ 2ub — 2ut + 22

wl® — 3010 + 8ul? — 13w + 17010 — 1748 + 1208 — 6u? + w2 + 1)

ar =

a1 = \ ¢ — 448 + 1000 — 180 + 23u!? — 24410 + 1848 — 10uS + 3u?

u49+8u47+~~+4u3u)

ay = _u51_’_9u49+'”_u3+u
—u30 +5u . — 1208 + 1
ag = w0 — 40 o — 20t P
—u30 +5u - — 1208 + 1
ag = \ u®0 —4u?® + ... —2ut +u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u%3 — 40u®! + -+ + 4y + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

C1,Cs u® — % 3u— 1

C2 u®® 31 -1

€3 ub 4+ 7ub . £ 1657u + 101

C4,Co u 4t -1

Co u% w4 — 191w — 37

€7 u% — o Tu -1
cg, C10 w21+ -1

ci1 u® — 5u% + -+ +163u — 21




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cs Yy #3154y —1
€2 YO+ Ty 9y — 1
€ y% +19y% + - + 722417y — 10201
C4,Co y65—21y64+--~—|—y—1
C6 Y% —17y% + - 4+ 2293y — 1369
cr Y 133y — 1
cg, C10 y65+47y64+--~—7y—1
c11 Y% + 1195 + ... — 30047y — 441




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.689365 + 0.7266971

—1.58337 — 2.032931

3.89738 + 3.268991

—0.689365 — 0.7266971

—1.58337 + 2.032931

3.89738 — 3.268991

1.005880 + 0.1570081

—0.41947 + 2.112881

4.80416 — 3.075901

= 1.005880 — 0.1570081

—0.41947 — 2.112881

4.80416 + 3.075901

—0.911421 4 0.4762901

—0.02873 + 3.686231

6.08412 — 2.122641

= —0.911421 — 0.4762901

—0.02873 — 3.686231

6.08412 4 2.122641

= 0.687792 4 0.7690631

—0.78159 — 2.538621

5.40480 + 3.109001

0.687792 — 0.7690631

—0.78159 + 2.538621

5.40480 — 3.109001

1.030140 + 0.0587021

3.90580 — 2.151771

11.37394 + 2.208931

1.030140 — 0.0587021

3.90580 + 2.151771

11.37394 — 2.208931

= —1.029380 + 0.0894171

5.09135 — 2.556491

13.39578 4- 4.212011

—1.029380 — 0.0894171

5.09135 + 2.556491

13.39578 — 4.212011

—1.037970 4 0.1350011

4.01245 — 4.612951

11.51833 + 4.520051

= —1.037970 — 0.1350011

4.01245 + 4.612951

11.51833 — 4.520051

0.908964 + 0.5236731

1.93533 + 1.095841

9.59662 — 2.369821

0.908964 — 0.5236731

1.93533 — 1.095841

9.59662 + 2.369821

1.047290 + 0.1479781

1.79362 + 9.574411

8.04394 — 8.425021

= 1.047290 — 0.1479781

1.79362 — 9.574411

8.04394 + 8.425021

= 0.694570 4+ 0.8067721 —2.33998 — 4.478571 3.88200 + 0.1

= 0.694570 — 0.8067721 —2.33998 + 4.478571 3.88200 + 0.1

= —0.693732 + 0.8172241 —4.71040 + 9.463631 0. —5.961631
= —0.693732 — 0.8172241 —4.71040 — 9.463631 0.+ 5.961631

—0.855805 + 0.6459211

—2.22679 — 2.525011

= —0.855805 — 0.6459211

—2.22679 4 2.525011

—0.714699 + 0.8084081

—6.81733 + 1.646071

—0.714699 — 0.8084081

—6.81733 — 1.646071

—0.786697 + 0.7726141

—3.96704 — 1.983811

= —0.786697 — 0.7726141

—3.96704 + 1.983811

0.770398 + 0.7947631

—7.77271 — 1.283751
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0.770398 — 0.7947631

—7.77271 + 1.283751

[ev] Nen] ool Hen) Hew) Hen) e Nan]




Solutions to I} V—1(vol + /—1CS) Cusp shape
u=0.946620 + 0.5827071 2.30161 + 3.091521 0
u=0.946620 — 0.5827071 2.30161 — 3.091521 0

u = —0.843904 + 0.2544051

—1.51926 — 2.993651

3.32010 + 5.426771

u = —0.843904 — 0.2544051

—1.51926 + 2.993651

3.32010 — 5.426771

u= 0.800302 + 0.7877381 —6.57059 + 6.528491 0
uw=0.800302 — 0.7877381 —6.57059 — 6.528491 0
u = —0.966069 + 0.6014921 0.74043 — 7.866641 0
u = —0.966069 — 0.6014921 0.74043 + 7.866641 0
u = —0.944152 + 0.7302381 —3.48204 — 3.700531 0
u = —0.944152 — 0.7302381 —3.48204 + 3.700531 0
u=0.937853 + 0.7469921 —6.14634 — 0.747941 0
u= 0.937853 — 0.7469921 —6.14634 4- 0.747941 0
u= 0.800973 1.17985 8.77650

u = —0.990290 + 0.6892581 —0.68502 — 3.405271 0
uw = —0.990290 — 0.6892581 —0.68502 + 3.405271 0
u=0.962070 4 0.7413007 —7.18458 + 7.067651 0
uw= 0.962070 — 0.7413001 —7.18458 — 7.067651 0
uw=0.999686 + 0.7033611 0.15648 + 8.127411 0
u=0.999686 — 0.7033611 0.15648 — 8.127411 0
u = —0.999377 + 0.7289061 —5.94902 — 7.427471 0
u = —0.999377 — 0.7289061 —5.94902 4 7.427471 0
u= 1.008600 + 0.7213731 —1.38595 + 10.229201 0
u= 1.008600 — 0.7213731 —1.38595 — 10.229201 0
u = —1.012630 + 0.7257521 —3.7395 — 15.25731 0
u = —1.012630 — 0.7257521 —3.7395 + 15.25731 0

u = —0.448985 + 0.5082561

—0.40000 + 3.372531

3.73657 — 2.565281

u = —0.448985 — 0.5082561

—0.40000 — 3.372531

3.73657 + 2.565281

u = —0.163452 + 0.6135831

—2.07374 — 7.248011

0.44286 + 6.949141

u = —0.163452 — 0.6135831

—2.07374 4 7.248011

0.44286 — 6.949141

uw= 0.173474 4+ 0.5735851

0.19197 4 2.462761

3.81248 — 3.424381




Solutions to I} Vv—1(vol + /—1CS) Cusp shape
= 0.173474 — 0.5735851 0.19197 — 2.462761 3.81248 4 3.424381
= —0.088496 + 0.5776607 —3.86299 4 0.199771 | —3.23482 + 0.274661

—0.088496 — 0.5776601

—3.86299 — 0.199771

—3.23482 — 0.274661

0.302292 + 0.4709451

gle|e|e|e
I

1.11205 + 0.994471

6.38117 — 3.961441

= 0.302292 — 0.4709451

1.11205 — 0.994471

6.38117 + 3.961441




II. u-Polynomials

Crossings u-Polynomials at each crossing

c1,¢s u%? — w4 3u—1

o W 31t 1

€3 u® + 7u® + - +1657u + 101

C4, Cg N |

C6 u% +uf 4. —191u — 37

7 u% — bt Tu—1
cs, C10 u® =21+ u—1

c11 u%® — 5yt + -+ 163u — 21




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cs Yo +31y% 4y —1
€2 YO+ Ty 9y —1
€3 Y% + 1995 + ... 4 722417y — 10201
C4, Cg P 21yt y—1
Ce Y% — 175 + ... + 2293y — 1369
cr ¥ — % f 133y — 1
€8, C10 Yo 447y Ty — 1
c11 Y% 4+ 1195 + .- — 30047y — 441




